Jaroslav Ježek; Tomáš Kepka Semigroup representations of medial groupoids

Commentationes Mathematicae Universitatis Carolinae, Vol. 22 (1981), No. 3, 513--524

Persistent URL: http://dml.cz/dmlcz/106093

Terms of use:

© Charles University in Prague, Faculty of Mathematics and Physics, 1981

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

COMMENTATIONES MATHEMATICAE UNIVERSITATIS CAROLINAE 22,3 (1981)

SEMIGROUP REPRESENTATIONS OF MEDIAL GROUPOIDS Jaroslav JEŽEK. Tomáš KEPKA

<u>Abstract</u>: For every medial groupoid G with GG = G, there exist a commutative monoid S(+,0) and its two commuting automorphisms f and g such that $G \cong S$ and xy = f(x) + g(y) for all $x, y \in G$. <u>Key words</u>: Semigroup, representation, medial groupoid. Classification: OSA05

In the past, a considerable attention was paid to the problem of representations of medial groupoids by means of commutative semigroups and their commuting endomorphisms (see e.g. [1],[2],[3],[6],[7],[8],[9] and [10]). In the present paper, we are going to show that all medial groupoids without irreducible elements and all commutative medial groupoids have semigroup representations.

1. <u>Preliminaries</u>. Throughout this paper, let **E** be a free monoid over a two-element set $\{\alpha, \beta\}$. Every element e of **E** can be written uniquely as $e = a_1 \dots a_n$ for some $n \ge 0$ and $a_1, \dots, a_n \in \{\alpha, \beta\}$. We put d(e) = n and $\mathbf{E}_n = \{\mathbf{f} \in \mathbf{E}; d(\mathbf{f}) = \mathbf{m}\}$ for all $n \ge 0$. Further, $l(e) = \operatorname{card} \{i; a_i = \alpha\}$, r(e) = $= \operatorname{card} \{i; a_i = \beta\}$ and $\mathbf{E}_{i,j} = \{e \in \mathbf{E}; (l(e), r(e)) = (i, j)\}$.

- 513 -

Let X be a non-empty set and SW'_X the free algebra over X in the variety of universal algebras of the type $\{+,0,\alpha,\beta\}$ satisfying the identities (x + y) + z = x + (y + z), x + y = $= y + x, x + 0 = x, \alpha(x + y) = \alpha x + \alpha y, \beta(x + y) = \beta x +$ $+ \beta y, \alpha 0 = 0, \beta 0 = 0$. Elements from SW'_X are called semiterms over X. Every semiterm can be expressed uniquely (up to the order of summands) in the form $s = e_1x_1 + \dots + e_nx_n$, where $n \ge 0$, $e_i \in E$ and $x_i \in X$. We put $d(s) = \max d(e_i), I^*(s) =$ $= \{e_1, \dots, e_n\}, I(s) = \{e \in E; ef \in I^*(s) \text{ for some } f \in E\}.$

Define a binary operation (denoted multiplicatively) on SW_X by rs = ∞ r + β s. We obtain a groupoid SW. The subgroupoid W_X generated by X is an absolutely free groupoid over X and its elements are called terms.

Let $r \in W$ be a term and $e \in I(r)$. Then there exists a unique pair u, v such that u is a semiterm, v is a term and r = u + ev. We put $v = r_{[e]}$.

2. Linear representations of medial groupoids. Let X be a non-empty set. Denote by F'_X the free algebra over X in the variety \mathcal{R} of universal algebras of the type $\{+,0,\infty,\beta\}$ satisfying the identities (x + y) + z = x + (y + z), x + y = $= y + x, x + 0 = x, \alpha(x + y) = \alpha x + \alpha y, \beta(x + y) = \beta x +$ $+ \beta y, \alpha 0 = 0, \beta 0 = 0, \beta \alpha x = \alpha \beta x$. Every element of F'_X can be written in the form $u = \sum_{i=1}^{k} \alpha^{n_i} \beta^{n_i} x_i$, where r, n_i , m_i are non-negative integers and $x_i \in X$; this expression is unique up to the order of summands. We put $d(u) = \max(n_i +$ $+ m_i)$.

Define a multiplication on F_X by $uv = \alpha u + \beta v$. The set F_X together with this operation is a groupoid which will

- 514 -

be denoted by F_X . Moreover, we can identify the set F_X with a subset of SW_X . It is easy to see that the groupoid F_X is a medial cancellation groupoid, and so it is entropic (recall that a groupoid is said to be medial if it satisfies the identity xy.uv = xu.yv and it is said to be entropic if it is a homomorphic image of a medial cancellation groupoid). Denote by G_X the subgroupoid of F_X generated by X. According to [4, Theorem 2.1], G_X is a free entropic groupoid over X.

Let G be a groupoid. By a linear representation of G we mean an algebra $S(+,0,f,g) \in \mathcal{R}$ (i.e., S(+,0) is a commutative monoid and f,g are commuting 0-preserving endomorphisms of S(+)) together with an element $e \in S$ such that G is a subset of S and xy = f(x) + g(y) + e for all $x, y \in G$. The representation is called exact if S = G and it is called convex if e == 0.

Using the fact that the underlying semigroups of free \Re algebras are cancellative, it is easy to show that groupoids with linear representations are entropic. Conversely, every medial groupoid containing an element a such that the corresponding translations are permutations has an exact linear representation (see [9]). Further, every regular medial division groupoid has an exact linear representation (see[6]) and every medial cancellation groupoid has a convex linear representation.

3. Representations of medial groupoids without irredu-

<u>cible elements</u>. The purpose of this section is to prove the following

- 515 -

<u>Theorem 1</u>. Let G be a medial groupoid such that GG = G. Then G has a convex linear representation S(+,0,f,g) such that f, g are automorphisms of S(+).

The proof of this result will be divided into several lemmas.

Let A(o) be a medial groupoid such that $A = A \circ A$. By [5, Proposition 4.3], A(o) is entropic. In the following, we shall use the groupoids F_A and G_A defined in the preceding section. Denote by h the homomorphism of G_A onto A(o) such that h(x) = x for every $x \in A$. Further, for every $x \in A$, fix elements $p_{oc}(x)$, $p_{f3}(x)$ in A such that $x = p_{oc}(x) \circ p_{f3}(x)$. For every $x \in A$ and every $e \in E$, we define an element $p_e(x)$ of A by induction on d(e) as follows: $p_1(x) = x$; $p_{eoc}(x) =$ $= p_{oc}(p_e(x))$; $p_{ef3}(x) = p_{f3}(p_e(x))$. Finally, for every $x \in A$ and every non-negative integer n, denote by C(n,x) the element $e \in E_m \propto \frac{1(e)}{f} \frac{r(e)}{f} p_e(x)$ of F_A .

Lemma 2. Let $x \in A$ and $n \ge 0$. Then $C(n,x) \in G_A$ and h(C(n,x)) = x.

Proof. We shall proceed by induction on n. Let $n \ge 1$. Then $C(n,x) = C(n-1,p_{ot}(x)) \cdot C(n-1,p_{f}(x))$, and so $h(C(n,x)) = p_{ot}(x) \circ p_{f}(x) = x$.

For every element $u = \sum_{i=1}^{A} \alpha^{n_i} \beta^{m_i} x_i$ of H_A (see [4]) and every integer $n \ge d(u)$, let D(n,u) =

 $\sum_{i=1}^{n} \alpha^{n_{i}} \beta^{m_{i}} C(n-n_{i}-m_{i},x_{i}).$ $\underline{\text{Lemma } 3.} \quad \text{Let } u = \sum_{i=1}^{n} \alpha^{n_{i}} \beta^{m_{i}} x_{i} \in H_{A}. \text{ Then:}$ (i) $D(n,u) \in G_{A}$ for every $n \ge d(u).$

- 516 -

(ii)
$$D(n,u) = \sum_{\substack{i=1 \\ i=1 \\ e \in E_{m-n_i} - m_i}}^{\infty} \sum_{\substack{j=1 \\ e \in E_{m-n_i} - m_i}}^{n_i+1(e)} \prod_{\substack{j=1 \\ i=1 \\ e \in E_{n-n_i} - m_i}}^{n_i+1(e)} n_i + r(e) = n \text{ for all } 1 \le i \le s \text{ and}$$

Proof. For every $0 \le k \le n$ we have c(n,k,D(n,u)) =

 $= \sum_{i=1}^{\infty} \sum_{e \in E_{n-m_i}-m_i} {\binom{0}{k-n_i-1(e)}} = \sum_{i=1}^{\infty} \operatorname{card} \{e \in E_{n-n_i}-m_i\}; k =$ $= n_i + 1(e) = \sum_{i=1}^{\infty} {\binom{n-n_i-m_i}{k-n_i}} = c(n,k,u) = {\binom{n}{k}}, \text{ since } u \in H_{\mathbb{A}}$ (see [4]). We have proved that $D(n,u) \in H_{\mathbb{A}}$. By [4, Lemmas 2.10, 2.11], $D(n,u) \in G_{\mathbb{A}}$ and the rest is clear.

Define a binary relation R on $\mathbf{F}_{\mathbf{A}}$ as follows: $(\mathbf{u}, \mathbf{v}) \in \mathbf{R}$ iff there are $\mathbf{w} \in \mathbf{F}_{\mathbf{A}}$, $\mathbf{x}, \mathbf{y}, \mathbf{z} \in \mathbf{A}$ and $\mathbf{c}, \mathbf{d} \ge 0$ such that $\mathbf{u} = \mathbf{w} + \mathbf{v} \stackrel{\mathbf{c}}{\beta} \stackrel{\mathbf{d}}{\mathbf{x}}$, $\mathbf{v} = \mathbf{w} + \mathbf{\infty} \stackrel{\mathbf{c}}{\beta} \stackrel{\mathbf{d}}{\mathbf{y}} + \mathbf{\infty} \stackrel{\mathbf{c}}{\beta} \stackrel{\mathbf{d}}{\mathbf{d}^{+1}} \mathbf{z}$ and $\mathbf{x} = \mathbf{y} \circ \mathbf{z}$. Further, define a binary relation S on $\mathbf{F}_{\mathbf{A}}$ by $(\mathbf{u}, \mathbf{v}) \in \mathbf{S}$ iff there are $\mathbf{m} \ge 0$ and $\mathbf{u}_0, \dots, \mathbf{u}_{\mathbf{m}} \in \mathbf{F}_{\mathbf{A}}$ such that $\mathbf{u} = \mathbf{u}_0$, $\mathbf{v} = \mathbf{u}_{\mathbf{m}}$ and $(\mathbf{u}_{i-1}, \mathbf{u}_i) \in \mathbf{R} \cup \mathbf{R}^{-1}$ for all $1 \le i \le \mathbf{m}$. Evidently, S is a congruence of the algebra $\mathbf{F}_{\mathbf{A}} = \mathbf{F}_{\mathbf{A}}(+, 0, \mathbf{x}, \beta)$.

<u>Lemma 4</u>. Let $(u, v) \in S$. Then $u \in H_A$ iff $v \in H_A$. Proof. See [4, Lemma 2.9].

Lemma 5. Let $u, v \in H_A$ and $(u, v) \in \mathbb{R}$. Then h(D(n, u)) = h(D(n, v)) for every $n \ge d(v)$.

<u>Proof</u>. Let $n \ge d(v)$. We have $u = w + \infty^{c} \beta^{d} x$ and $v = w + \infty^{c+1} \beta^{d} y + \infty^{c} \beta^{d+1} z$ for some $w \in F_{A}$, $c, d \ge 0$ and $x, y, z \in A$ with $x = y \circ z$. There is $w' \in F_{A}$ such that $D(n, u) = w' + \infty^{c} \beta^{d} C(n-c-d,x)$ and $D(n,v) = w' + \infty^{c+1} \beta^{d} C(n-c-d-1,y) + \infty^{c} \beta^{d+1} C(n-c-d-1,z)$. We can express w' in the form $w' = \sum_{i=1}^{A} \infty^{n_{i}} \beta^{m_{i}} x_{i}$; by Lemma 3, $D(n, u) \in H_{A}$ and $n_{i} + m_{i} = n$ for all $i = 1, \dots, s$. Hence, for every $0 \le k \le n$,

 $\binom{n}{k} = c(n,k,w') + \sum_{e \in E_{n-e-d}} \binom{n-e-d-1(e)-r(e)}{k-e-1(e)} = card \{i;n_i = k\} + card \{e \in E_{n-e-d}; l(e) = k - c\} = card \{i;n_i = k\} + \binom{n-e-d}{k-e}, \text{ so that card } \{i;n_i = k\} = \binom{n}{k} - \binom{n-e-d}{k-e}.$ Now, let P designate the set of all $a_1 \dots a_n \in E_n$ such that $a_1 = \dots$ $\dots = a_c = \infty$ and $a_{c+1} = \dots = a_{c+d} = \beta$. We have $card (E_{k,n-k} \cap P) = \binom{n}{k} - \binom{n-e-d}{k-e}$ for every $0 \le k \le n$. There exists a bijective mapping t_k of $E_{k,n-k} \cap P$ onto $\{i;n_i = k\}$. Using this, let us define a mapping t of E_n into A as follows: $t(e) = x_{t_k}(e)$ for every $e = a_1 \dots a_n \in P$. It is now easy to check that $D(n,u) = \sum_{e \in E_n} \infty \frac{1(e)}{\beta} \frac{r(e)}{t(e)}.$

There exists a unique term $\mathbf{r} \in \mathbf{W}_{A}$ with $\mathbf{I}(\mathbf{r}) = \mathbf{E}_{0} \cup \cdots \cup \mathbf{E}_{n}$ and $\mathbf{r}_{[e]} = \mathbf{t}(e)$ for every $e \in \mathbf{E}_{n}$. Denote by \mathbf{g} the homomorphism of \mathbf{W}_{A} onto \mathbf{G}_{A} such that $\mathbf{g}(\mathbf{x}) = \mathbf{x}$ for all $\mathbf{x} \in A$. We have $\mathbf{g}(\mathbf{r}) = \mathbf{D}(\mathbf{n}, \mathbf{u})$ by [4, Lemma 2.2]. Further, denote by \mathbf{f} the element $\mathbf{a}_{1} \cdots \mathbf{a}_{c+d}$ of \mathbf{E}_{c+d} with $\mathbf{a}_{1} = \cdots = \mathbf{a}_{c} = \infty$ and $\mathbf{a}_{c+1} = \cdots$. $\cdots = \mathbf{a}_{c+d} = /3$. Clearly, $\mathbf{g}(\mathbf{r}_{[f]}) = \mathbf{C}(\mathbf{n}-\mathbf{c}-\mathbf{d},\mathbf{x})$. Moreover, there are elements $\mathbf{u}_{1}, \ldots, \mathbf{u}_{d}, \mathbf{v}_{1}, \ldots, \mathbf{v}_{c} \in \mathbf{W}_{A}$ such that $\mathbf{r} =$ $= ((((\mathbf{u}_{d}(\cdots (\mathbf{u}_{2}(\mathbf{u}_{1} \cdot \mathbf{r}_{[f]}))))\mathbf{v}_{1})\mathbf{v}_{2}) \cdots)\mathbf{v}_{c}$. Consequently, $\mathbf{D}(\mathbf{n}, \mathbf{u}) = \mathbf{g}(\mathbf{r}) = ((((\mathbf{u}_{d}(\cdots (\mathbf{u}_{2}(\mathbf{u}_{1}^{\prime} \cdot \mathbf{C}(\mathbf{n}-\mathbf{c}-\mathbf{d},\mathbf{x})))))\mathbf{v}_{1}^{\prime})\mathbf{v}_{2}^{\prime}) \cdots)\mathbf{v}_{c}^{\prime}$ where $\mathbf{u}_{1}^{\prime} = \mathbf{g}(\mathbf{u}_{1})$ and $\mathbf{v}_{1}^{\prime} = \mathbf{g}(\mathbf{v}_{1})$ are elements from \mathbf{G}_{A} . Put $\mathbf{q} = ((((\mathbf{u}_{d}(\cdots (\mathbf{u}_{2}(\mathbf{u}_{1}^{\prime} (\mathbf{C}(\mathbf{n}-\mathbf{c}-\mathbf{d}-\mathbf{1},\mathbf{y}))))\mathbf{v}_{1}^{\prime}) \cdots)\mathbf{v}_{c}^{\prime}$. Then $\mathbf{D}(\mathbf{n}, \mathbf{u}) = \infty^{c} \beta^{d} \mathbf{C}(\mathbf{n}-\mathbf{c}-\mathbf{d},\mathbf{x}) + k \sum q \sum q \infty^{c+1} (\beta^{d}-\mathbf{k} \ \mathbf{u}_{K}^{\prime} + \frac{q}{2} \sum q \infty^{c-1} (\beta \mathbf{v}_{1}^{\prime})$

- 518 -

Further,
$$q = \alpha^{c} \beta^{d} (C(n-c-d-1,y),C(n-c-d-1,z)) + \frac{d}{\lambda^{c-1}} \alpha^{c+1} \beta^{d-k} u_{k}^{c} + \frac{c}{\lambda^{c-1}} \alpha^{c-1} \beta^{d} v_{1}^{c} = \alpha^{c} \beta^{d} (C(n-c-d-1,y), C(n-c-d-1,y)) + \frac{d}{\lambda^{c-1}} \alpha^{c-1} \beta^{d} v_{1}^{c} = \alpha^{c-1} \beta^{d} (C(n-c-d-1,y), C(n-c-d-1,y)) + \alpha^{c} \beta^{d+1} C(n-c-d-1,z) + \alpha^{c} = D(n,v).$$
 Therefore $h(D(n,u)) = (((h(u_{d}^{c}) \circ (\dots \circ (h(u_{1}^{c}) \circ h(C(n-c-d,x))))) \circ h(v_{1}^{c})) \circ h(v_{2}^{c})) \circ \cdots) \circ h(v_{c}^{c})$ and $h(D(n,v)) = (((h(u_{d}^{c}) \circ (\dots \circ (h(u_{1}^{c}) \circ h(C(n-c-d-1,y)))) \circ (n-c-d-1,z)))) \circ \circ h(v_{1}^{c}) \cdots) \circ h(v_{c}^{c})$. But $h(C(n-c-d-1,z)) = x$, $h(C(n-c-d-1,y)) = y$ and $h(C(n-c-d-1,z)) = z$ by Lemma 2. Finally, $x = y \circ z$ and we see that $h(D(n,u)) = h(D(n,v))$.

Lemma 6. Let $x, y \in A$ be such that $(x, y) \in S$. Then x = y.

Proof. There are elements $u_0, \ldots, u_m \in F_A$ such that $x = u_0, y = u_m$ and $(u_{i-1}, u_i) \in \mathbb{R} \cup \mathbb{R}^{-1}$. By Lemma 4, $u_i \in H_A$. Let n be such that $n \ge d(u_i)$ for all i. By 3.5, $h(D(n, u_0)) = \ldots = h(D(n, u_m))$. Thus $x = h(D(n, u_0)) = h(D(n, u_m)) = y$.

<u>Lemma 7</u>. Let $u, v \in F_A$ be such that either $(\alpha u, \alpha v) \in S$ or $(\beta u, \beta v) \in S$. Then $(u, v) \in S$.

Proof. It is easy to see that if $(p,q) \in \mathbb{R} \cup \mathbb{R}^{-1}$ and $p = \infty r$ for some r then $q = \infty s$ for some s and $(r,s) \in \mathbb{R} \cup \mathbb{R}^{-1}$; similarly for β .

<u>Lemma 8</u>. The groupoid A(o) has a convex linear representation such that f, g are injective.

Proof. It follows from the definition of S and from Lemma 6 that an algebra isomorphic to $F_A(+,0,\infty,\beta)/S$ is a convex linear representation of A(o). Let S(+,0,f,g) be such an algebra. By Lemma 7, both f and g are injective and preserve the element 0.

- 519 -

Now, Theorem 1 is an easy consequence of Lemma 8.

4. <u>Representations of medial groupoids with zero and</u> without irreducible elements

<u>Proposition 9</u>. Let G be a medial groupoid such that GG = G. Suppose that G contains a zero element o (i.e., xo = o = ox). Then G has a convex linear representation S(+,0,f,g) such that f, g are automorphisms of S(+) and x + + o = o for all x \in S.

The proof of this result will be divided into six lemmas. Let A(o) be a medial groupoid with $A \circ A = A$ and let o be a zero element of A(o). We keep the notation of the preceding section; in the present case, we can assume that $p_{a}(o) = o$ for every $e \in E$.

<u>Lemma 10</u>. Let $u = \sum_{i=1}^{\infty} \alpha^{n_i} \beta^{m_i} x_i \in H_A$ be such that $x_i = o$ for some $1 \le i \le s$. Then h(D(n,u)) = o for every $n \ge d(u)$. Proof. $D(n,u) = \sum_{i=1}^{\infty} \alpha^{n_i} \beta^{m_i} C(n-n_i-m_i,x_i) =$ $= \sum_{i=1}^{2^m} \alpha^{c_i} \beta^{d_i} y_i$ for some $c_i, d_i \ge 0$ and $y_i \in A$ such that $c_i + i$

+ $d_i = n$ and o appears among the elements y_i . Further, there is a teW_A such that $I(t) = E_0 \cup \dots \cup E_n$, o is contained in t and h(t) = D(n,u). Denote by g the homomorphism of W_A onto G_A such that g(x) = x for all $x \in A$. We have h(D(n,u)) == hg(t) = o.

Let I be the set of all $u = \sum_{i=1}^{A} \propto \sum_{j=1}^{n_i} \beta^{m_i} x_i \in F_A$ such that $x_i = 0$ for some i and define a binary relation Q on F_A as follows: $(u,v) \in Q$ iff either $(u,v) \in S$ or there exist elements w, z \in I with $(u,w) \in S$ and $(v,z) \in S$.

- 520 -

Lemma 11. I is an ideal of $F_A(+)$ and Q is a congruence of $F_A(+,0,\infty,\beta)$.

Proof. Obvious.

Lemma 12. Let $x \in A$, $x \neq o$, $u \in F_A$ and $(x, u) \in S$. Then $u \notin I$. Proof. There are $m \ge 0$ and elements $u_0, \dots, u_m \in F_A$ such that $x = u_0$, $u = u_m$ and $(u_{i-1}, u_i) \in \mathbb{R} \cup \mathbb{R}^{-1}$. Moreover, there is a positive integer n such that $n \ge d(u_i)$ for all i. Since $x \in E$ $\in H_A$, we have $u_i \in H_A$ and $h(D(n, u_{i-1})) = h(D(n, u_i))$ by Lemma 5. However, $h(D(n, u_0)) = x$, and hence h(D(n, u)) = x. By Lemma 10, $u \notin I$.

Lemma 13. Let $x, y \in A$ be such that $(x, y) \in Q$. Then x = y. Proof. Suppose $x \neq y$. Then at least one of these elements is different from o; by Lemma 12 and the definition of Q, we get $(x, y) \in S$. Now, x = y by Lemma 7, a contradiction.

Lemma 14. Let $u, v \in F_A$ be such that either $(\propto u, \propto v) \in Q$ or $(\beta u, \beta v) \in Q$. Then $(u, v) \in Q$.

Proof. Easy.

<u>Lemma 15</u>. The groupoid A(o) has a convex linear representation S(+,0,f,g) such that f, g are injective, x + o = o for all $x \in S$ and f(o) = o = g(o).

Proof. An algebra isomorphic to $F_{A}(+,0,\infty,\beta)/Q$ has the required properties.

Now, Proposition 9 is an easy consequence of Lemma 15.

5. Linear representations of commutative medial groupoids

<u>Theorem 16</u>. Let G be a commutative medial groupoid. Then G has a convex linear representation S(+,0,f,g) such that

f = g and f is an automorphism of S(+).

The proof of the result will be divided into four lemmas.

Let A(o) be a commutative medial groupoid. We denote by h the unique homomorphism of CG_A onto A(o) such that h(x) = xfor each $x \in A$ (see [4, section 3]).

Define a binary relation R on CF_A as follows: $(u,v) \in R$ iff there are $w \in CF_A$, x,y,z $\in A$ and $c \geq 0$ such that u = w + $+ \propto^C x$, $v = w + \propto^{C+1} y + \propto^{C+1} z$ and $x = y \circ z$. Further, define a binary relation S on CF_A by $(u,v) \in S$ iff there are $m \geq 0$ and $u_0, \ldots, u_m \in CF_A$ such that $u_0 = u$, $u_m = v$ and $(u_{i-1}, u_i) \in R \cup \cup R^{-1}$.

Lemma 17. (i) S is a congruence of $CF_A(+,0,\infty)$. (ii) If $u, v \in CF_A$ and $(\alpha u, \alpha v) \in S$ then $(u, v) \in S$. (iii) If $(u, v) \in S$ then $u \in CG_A$ iff $v \in CG_A$. (iv) If $x, y, z \in A$ and $x = y \circ z$ then $(x, yz) \in S$. Proof. Easy (see [4, Lemma 3.4]).

Lemma 18. Let $(u,v) \in \mathbb{R}$ and $u,v \in \mathbb{G}_{A}$. Then h(u) = h(v).

Proof. We have $u = w + \alpha^c x$ and $v = w + \alpha^{c+1} y + \alpha^{c+1} z$, $w \in CF_A$, $c \ge 0$, $x, y, z \in A$, $x = y \circ z$. Denote by g the homomorphism of W_A onto G_A with g(x) = x for every $x \in A$. Then g(t) = u for some $t \in W_A$. By [4, Lemma 3.2], there is an $e = a_1 \cdots a_c \in I(t)$ such that $t_{[e]} = x$. It is easy to see that $t = [t_{[e]}, a_c, t_c, \cdots$ $\dots, a_1, t_1]$ for some $t_1, \dots, t_c \in W_A$ (see [5, Proposition 1.7]). Put $u_1 = g(t_1), \dots, u_c = g(t_c)$. Then $u_1, \dots, u_c \in CG_A$ and u = $= g(t) = (((xu_c)u_{c-1})\dots)u_1$. Consequently, $u = \alpha^c x + \alpha^c u_c +$ $+ \alpha^{c-1}u_{c-1} + \dots + \alpha u_1, v = \alpha^{c+1}y + \alpha^{c+1}z + \alpha^c u_c + \alpha^{c-1}u_{c-1} +$ $+ \dots + \alpha u_1 = (((yz, u_c)u_{c-1})\dots)u_1$. From this, h(u) = h(v). Lemma 19. Let $x, y \in A$ and $(x, y) \in S$. Then x = y. Proof. Use Lemma 17(ii) and Lemma 18.

Lemma 20. The groupoid A(o) has a convex linear representation S(+,0,f,f) such that f is injective.

Proof. Use Lemma 17 and Lemma 19.

Now, Theorem 16 is an easy consequence of Lemma 20.

6. Remarks

<u>Proposition 21</u>. Let f and g be commuting endomorphisms of a commutative semigroup S(+) and $e \in S$. Put xy = f(x) ++ g(y) + e for all $x, y \in S$ and suppose that the medial groupoid S is divisible. Then it is regular.

Proof. Let $L_a(b) = a + b$ for all $a, b \in S$. Denote by T the set of all $a \in S$ such that L_a is a projective transformation of S. Since the groupoid S is divisible, $e \in T$ and f(a), $g(a) \in T$ for each $a \in S$. On the other hand, T is a subsemigroup and, moreover, an abelian group. The rest is clear.

<u>Example 22</u>. Let G be a non-regular medial division groupoid (see [7]). Then G has a convex linear representation. According to Proposition 21, G has no exact linear representation.

<u>Example 23</u>. Let $X = \{x,y\}$ be a two-element set. Denote by L the twelve-element subset of G_X formed by the elements x, xx, xx.x, x.xx, xx.xx, (xx)(xx.x), y, xy, xy.x, (xy.x)(xx), (xy.x)(x.xx), ((xy.x)(xx))((xx)(xx.x)). It is easy to see that $J = G_X \setminus L$ is an ideal of G_X . Put $r = (J \times J) \cup$ id and $A = G_X/r$; it is clear that r is a congruence. We obtain thus an entropic

- 523 -

groupoid A. On the other hand, it is easy to check that A has no convex linear representation.

<u>Remark 24</u>. The following problem seems to be open: Has every entropic groupoid a linear representation?

References

- R.H. BRUCK: Some results in the theory of quasigroups, Trans. Amer. Math. Soc. 55(1944), 19-52 [1] T. EVANS: Abstract mean values. Duke Math. J. 30(1963). [2] 331-349 [3] J. JEŽEK and T. KEPKA: Semigroup representations of com-Mutative idempotent abelian groupoids, Comment. Math. Univ. Carolinae 16(1975), 487-500 J. JEŽEK and T. KEPKA: Free entropic groupoids, Comment. Math. Univ. Carolinae 22(1981), 223-233 [4] [5] J. JEŽEK and T. KEPKA: Equational theories of medial groupoids (to appear) T. KEPKA: Regular mappings of groupoids, Acta Univ. Caro-linae Math. Phys. 12/1(1971), 25-37 [6] T. KEPKA: Medial division groupoids, Acta Univ. Carolinae Math. Phys. 20/1(1979), 41-60 [7] S.K. STEIN: On the foundations of quasigroups, Trans. Amer. Math. Soc. 85(1957), 228-256 [8] [9] R. STRECKER: Über entropische Gruppoide, Math. Nachr. 64 (1974), 361-371
- [10] K. TOYODA: On axioms of linear functions, Proc. Imp. Acad. Tokyo 17(1941), 221-227

Matematicko-fyzikální fakulta, Universita Karlova, Sokolovská 83, 18600 Praha 8, Československo

(Oblatum 10.3. 1981)

- 524 -